1.

o5 AmolA SIS ot

1 5 7 8 4

S ER
-



2 _
sinA:%/_ Q1 A ZH2e ABC oA cos A B
tan A 9 E& 717 FHHEY (07 < A <
90°)

2
@ cosAzg, tanA =1 @) COSAZTV_, tan A =2
® cosA =23, tanA =1 @ cosA =33, tanA:%
® cosA = \/5, tanA =1

9|



3.

4
tanA = 3 A ff, cosA +sinA &) 27 (T, 0° <A <90°)

O] ) ® @ ®

ol
il co
ool w
oo | ot

S IR



o2 IHA FAd 1 & H A E HHCRE ol= ¥ 0 9 HAolt
BC7FE= Q0,0 9 Z25do|1 /TAB = 65°, /T/AC = 75° & o,
/x— 2y 9] A7]=7

@D 0° @ 5° 3 10° @ 15° 3B 20°



T34 2.

o, A+B9] 3

S}
=

072345678 910)7

(AIZh
SH5 10—
Al g

3

ALY Azt



